Theorems on Certain Fractional Function and Derivative

Dr. Ahmed Zain al-Abdin Science College, University of Mosul/ Nanowa Maha Abd Al-Wahab Applied Science Department, University of Technology/Baghdad Email:MAHA101511 @yahoo.com.

Received on: 20/2/ 2011 & Accepted on: 3/11 / 2011

ABSTRACT

The aim of this paper is to prove the correctness of the relation

 $\prod_{a}^{x} \prod_{a}^{a} h_{a}(x) = h_{a}(x) \text{ for all } x \in (a, b], \quad 0 < a \le 1, \text{ after we prove the continuity of the fractional function}$

$$h_{a}(x) = \frac{m(x-a)^{1-a}}{\Gamma(a)} + \frac{1}{\Gamma(a)} \int (x-t)^{a-1} f(g(t)) dt \text{ in } (a,\infty), \text{ where } |h_{a}(x)| \le M$$

for all $x\hat{I}$ (a, ∞) and (M \hat{I} R+, M>0).

Keywords: Fractional function, derivative.

المخلاصة المحدف الرئيسي في هذا البحث هو بر هان صحة العلاقة الهدف الرئيسي في هذا البحث هو بر هان صحة العلاقة $\int_{a}^{x} a^{a} h_{a}(x) = h_{a}(x) \quad \text{for all } x \in (a,b], 0 < a \le 1$ $\int_{a}^{x} h_{a}(x) = \frac{m(x-a)^{1-a}}{\Gamma(a)} + \frac{1}{\Gamma(a)} \int_{a}^{x} (x-t)^{a-1} f(g(t)) dt$ $\int_{a}^{x} h_{a}(x) = \frac{m(x-a)^{1-a}}{\Gamma(a)} + \frac{1}{\Gamma(a)} \int_{a}^{x} (x-t)^{a-1} f(g(t)) dt$ $\int_{a}^{x} h_{a}(x) = \int_{a}^{x} h_{a}(x) dt$

INTRODUCTION

Fractional Calculus is three Centuries old as the conventional calculus, but not very popular among science and engineering community. This subject was with mathematicians only; in last few years this was pulled to several applied fields of science, economies and engineering. The advantage of fractional derivative apparent in mechanics and stability analysis of fractional control of robotic time delays systems by [1], [2] and in nuclear energy science by [3], [4]

https://doi.org/10.30684/etj.30.2.6

2412-0758/University of Technology-Iraq, Baghdad, Iraq

This is an open access article under the CC BY 4.0 license http://creativecommons.org/licenses/by/4.0

also in the other physical and chemistry fields by [5], [6] and in computer hard disc by control [7]. In this paper we shall prove that:

$$\begin{aligned} & \prod_{a}^{x} \prod_{a}^{a} \prod_{a}^{x} h_{a}(x) = h_{a}(x), \\ & \frac{d^{a} f}{dx^{a}} = f^{a}(x) = \prod_{a}^{x} f \text{ for all } x \in (a,b], \end{aligned}$$

 $0 < \alpha \le 1$, after we prove the continuity of the function

$$h_{a}(x) = \frac{m(x-a)^{-a}}{\Gamma(a)} + \frac{1}{\Gamma(a)} \int_{a}^{x} (x-t)^{a-1} f(g(t)) dt$$

on (a,∞) for all x>a, $0 < \alpha \le 1$, where μ is constant, f, g are continuous functions on (a,∞) .

THEOREM OF CONTINUITY

Let $0 < \alpha \le 1$ and f, g be continuous functions on (a, ∞) , where $a \in \mathbb{R}$ and such that $\sup \{|f(g(x))|: x \in (a, \infty)\} = M < \infty$.

Define
$$h_a(x)=g_1(x)+\frac{1}{\Gamma(a)}\int_a^x (x-t)^{a-1}f(g(t))dt$$
 for all x>a, where $g_1 = \frac{m(x-a)^{1-a}}{\Gamma(a)}$, μ is

constant. Then $h_{\alpha}(x)$ is continuous on (a, ∞) .

Proof

Clearly $g_1(x)$ is continuous for all x>a.

Let
$$y(x) = \int_{a}^{x} (x-1)^{a-1} f(g(t)) dt$$
 for all $x \ge a$...(2.1)

and if $x_1, x_2 \in [a,\infty)$ such that $x_2 > x_1$ [The proof is similar for the case $x_1 > x_2$]

Then from (2.1) we have

$$\begin{vmatrix} y(x_{2}) - y(x_{1}) \end{vmatrix} = \left| \int_{a}^{x_{1}} (x_{2} - t)^{a-1} f(g(t)) dt - \int_{a}^{x_{1}} (x_{1} - t)^{a-1} f(g(t)) dt \right| = \left| \int_{a}^{x_{1}} (x_{2} - t)^{a-1} f(g(t)) dt + \lim_{d \to 0} \int_{x_{1}}^{x_{2}} (x_{2} - d - t)^{a-1} f(g(t)) dt - \int_{a}^{x_{1}} (x_{1} - t)^{a-1} f(g(t)) dt \right| = \left| \int_{a}^{x_{1}} (x_{2} - t)^{a-1} f(g(t)) dt + \lim_{d \to 0} \int_{x_{1}}^{x_{2}} (x_{2} - d - t)^{a-1} f(g(t)) dt - \int_{a}^{x_{1}} (x_{1} - t)^{a-1} f(g(t)) dt \right|$$

Since f is bounded by M and $0 < \alpha \le 1$, $x_2 > x_1$ it follows that

$$\left|y(x_{2}) - y(x_{1})\right| = \left|\lim_{d \to 0} \int_{a}^{x_{1}-d} \left\{(x_{2}-t)^{a-1} - (x_{1}-d-t)^{a-1}\right\} f(g(t))dt + \lim_{d \to 0} \int_{x_{1}}^{x_{2}-d} \left(x_{2}-d-t\right) f(g(t))dt\right|$$

$$= \lim_{d \to 0} \int_{0}^{x_{1}-d} \{(x_{1}-d-t)^{a-1} - (x_{2}-t)^{a-1}\} dt$$

$$\leq \lim_{d \to 0} \int_{x_{1}}^{x_{2}-d} M \Big| \{(x_{2}-t)^{a-1} - (x_{1}-d-t)^{a-1}\} \Big| dt + M \lim_{d \to 0} \int_{x_{1}}^{x_{2}-d} (x_{2}-d-t)^{a-1} dt$$

$$+ \lim_{d \to 0} \int_{x_{1}}^{x_{2}-d} M(x_{2}-d-t)^{a-1} dt$$

$$\leq M \lim_{d \to 0} \left[\frac{-(x_{1}-d-t)^{a-1}}{a} \right]_{0}^{x_{1}-d} - \frac{-(x_{2}-d)^{a}}{a} \Big|_{a}^{x_{1}-d} \Big|_{a} = M \frac{(x_{2}-a)^{a}}{a} + M \frac{(x_{2}-x_{1})^{a}}{a} - \frac{-(x_{2}-d)^{a}}{a} \Big|_{x_{1}}^{x_{1}-d} - \frac{M \frac{(x_{2}-a)^{a}}{a} + M \frac{(x_{2}-x_{1})^{a}}{a} - \frac{M \frac{(x_{2}-a)^{a}}{a} + M \frac{(x_{2}-a)^{a}}{a} - \frac{M \frac{(x_{2}-a)^{a}}{a} + M \frac{(x_{2}-a)^{a}}{a} - \frac{M \frac{($$

Let δ be a positive number such that $x_2-x_1 < \delta$, it follows

$$\left|y(x_2) - y(x_1)\right| < \frac{2Md^a}{a}$$

Now let ϵ be any positive number and choose δ such that

$$d = \left(\frac{ae}{2M}\right)^{\frac{1}{a}} \text{ Then we have } |y(x_2) - y(x_1)| < e \text{ when ever } |x_2 - x_1| < d$$

This shows that y(x) is continuous on $[a,\infty)$. Since $h_{\alpha}(x)=g_1(x)+y(x), (x \in (a,\infty))$ therefore h_{α} is continuous on (a,∞) .

THEOREM OF DERIVATIVE

If $0 < \alpha \le 1$ and $h_{\alpha}(x)$ is continuous on (a,b], $|h_{\alpha}(x)| \le M$ for all $x \in (a,b]$, where $(M \in R+, M > 0)$.

Then

 $I_{a}^{x} I_{a}^{x} I_{a}^{x} h_{a}(x) = h_{a}(x) \text{ for all } x \in (a,b], \text{ where } I_{a}^{x} I_{a}^{-a} \text{ and } I_{a}^{x} I_{a}^{a} \text{ are define by [8].}$

Proof

Since $h_{\alpha}(x)$ is continuous and bounded by (theorem2).

 $\prod_{a}^{x} h_{a}(x) \text{ exists for } a \leq t \leq x \leq b.$

Now since $0 < \alpha \le 1$ take n=1 then by [8] p(11) we have

263

$$I_{a}^{x} \stackrel{a}{=} \left(I_{a}^{x} \stackrel{a}{=} h_{a} \right) = \int_{x}^{1} I_{a}^{x} \stackrel{1-a}{=} \left(I_{a}^{x} \stackrel{a}{=} h_{a} \right) \text{ and from [8] p(17) we get}$$

$$I_{a}^{x} \stackrel{a}{=} I_{a}^{x} \stackrel{a}{=} h_{a} = \int_{x}^{1} I_{a}^{1-a+a} h_{a}$$

$$= \int_{x}^{1} I_{a}^{1} h_{a}(x) = \int_{a}^{1} \int_{a}^{x} h_{a}(x) dt = h_{a}(x) \text{ Hence } I_{a}^{x} \stackrel{a}{=} I_{a}^{x} I_{a}^{a} h_{a}(x) = h_{a}(x) \text{ for all } x \in (a, b]$$

CONCLUSIONS

In this paper we proved (theorem1) of continuity and (theorem2) of derivative. In the future we will use them to find the solution of certain kind of fractional differential equation.

REFERENCES

[1] Lazar vie, M. P. Finite Time stability Analysis of PDα fractional control of robotic time delays systems, Mechanics Research Communication 2006.

[2] Moshrefi - Torbati M. and J. K. Hammond, physical and geometrical interpretation of fractional operators, Journal of Franklin Institute, Vol. 335, no. 6, pp 1998.

[3] Shantanu-Das, B. B. Biswas, Total Energy Vtitization from Nuclear source, PORT-2006 Nuclear Energy for New Europe Slovenia 2006.

- [4] Shantanu Das, etal. Ratio control with logarithmic logics in new P and P control algorithm for a true fuel-efficient reactor. Int. J. Nuclear Energy science and Technology. VoL.3, No.1, 2007.
- [5] Juan Bisquert, Albert Compte, Theory of electrochemical impedance of an amatous diffusion, J of Electro analytical chemistry 499. 2001.

[6] Heymans and Podlubany et al, physical interpretation of initial conditions for fractional differential equation with Reimann-Liouvelti fractional derivative. Rheological

- Acta (online) Nov 29, 2005.
- [7] Barcena et al, Discrete Control for Computer hard disc by fractional order hold devise university of pais vasc spain. 2000.

[8] AL-Taba Kchaly, M. A., on the existence and uniqueness for fractional differential equation MSC. The sis, University of Musol.